XH24. 7 9F RERBIREZD—ERIEIZKYSNEANEZEHT-AO
(H30.8.31IRTEJITEET & (KF) Bl &R A O HEFE (&)

TBET (KF)3—K TERET(KF)E  HEH o) 1 2
10 HAT 138 2 1 5
20 FE#rET 151 1 3 1
30 @7 249 2 3 3
40 SRET 112 0 1 1
50 KET—T B 314 3 1 2
60 KET=TH 213 4 5 7
70 KET=TH 278 5 3 1
80 ¥ATIHET 35 0 0 0
90 FEHNIT I ET 204 2 5 3

100 dt D HLET 116 1 4 2
110 T HT 1051 19 19 16
120 #;TAHT 211 5 5 7
130 #&FHT 347 3 7 6
140 EAERT 47 0 0 0
150 & FFrHET 320 6 12 8
9999 K IFHXET 3786 53 69 62
510 RETIHT B 405 5 6 4
520 HEEEHT 120 3 3 1
530 /\T&HET 233 2 2 2
540 15 = HT 396 3 3 5
550 FithET 337 4 3 4
560 =ZEMT 107 0 1 1
570 EEHT 52 1 1 1
580 ¥TEAHET 136 4 1 3
590 ¥ ;EHT 73 1 0 0
600 ZERET 538 6 5 12
610 FHT 180 1 1 1
620 ¥EET—TH 2 0 0 0
9999 /\ & X5t 2579 30 26 34
1010 3 A HT 165 1 3 1
1020 £ FHT 279 3 6 11
1030 o FrHET 258 5 8 4
1040 78 /T HT 437 6 14 17
1050 £ HAHET 541 5 14 11
1060 F _EHT 451 11 13 12
1070 #y[RHET 597 11 7 11
1080 & HHET 348 18 10 8
1090 HEHT 546 18 6 18
1100 £ BHEHT 461 15 11 8
1110 f21EMT 158 2 2 4
1120 $21E JTHT 79 1 0 0
1130 +4&HT 29 0 2 1
1140 FkJRHET 14 0 0 1
1150 F/RET—T B 185 2 4 5
1160 F/RETZT B 226 4 3 1
1170 ;&K HET 180 2 1 1
1180 EE&FLHET 214 2 6 1
1190 #&FAHT 176 8 5 5
1200 XFHEI—TH 123 1 0 1
1210 XFHEIZTH 175 2 3 3
1220 FrHT 139 0 2 1
1230 #xHET 165 1 3 2
1240 B EHT 140 1 2 2
1250 fEEHET 153 5 3 2
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XH24. 7 9F RERBIREZD—ERIEIZKYSNEANEZEHT-AO
(H30.8.31IRTEJITEET & (KF) Bl &R A O HEFE (&)

TBET (KF)3—K TERET(KF)E  HEH o) 1 2 3 4 5 6 7 8 9
1260 B & 49 1 1 1 0 1 0 0 0 0 0
1270 EEHT 155 5 1 2 1 3 0 1 1 0 0
1280 R4 HT 148 1 0 1 1 1 4 2 2 2 2
1290 £RHT 195 3 3 5 2 5 3 3 1 0 2
1300 4 ZEHT 136 1 1 3 2 1 2 3 2 1 2
1310 RJLHT 77 2 1 1 2 2 0 1 0 1 0
9999 XH X ET 6999 137 135 144 149 143 137 130 138 113 147
1510 B4 BT 645 7 13 17 17 8 12 12 21 17 18
1520 HEHITET 618 9 11 5 9 7 11 11 10 9 12
1530 HEHITHT 323 3 12 11 4 10 5 5 6 4 5
1540 K{ZFHT 523 11 6 9 8 13 8 9 8 6 13
9999 HEMMRE X ET 2109 30 42 42 38 38 36 37 45 36 48
2010 EE&HT 195 7 3 7 3 5 4 4 5 4 9
2020 % &7l 284 7 14 8 9 6 7 9 4 8 5
2030 ;AT 18 0 0 0 0 1 0 0 0 0 1
2040 JMET—TH 196 2 0 0 2 1 6 5 2 5 3
2050 ;ET=T H 192 1 1 2 4 1 1 3 0 3 3
2060 ¥5XmmT 36 0 1 0 0 0 0 1 0 0 1
2070 FxEBT—TH 228 3 6 5 6 2 5 4 4 2 4
2080 +ETZTH 195 0 3 2 1 7 3 5 5 1 4
2090 THiAT 1635 16 16 19 30 23 25 29 36 27 37
2100 dr 4L HT 217 6 12 6 5 11 8 3 7 5 5
2110 }EWETET—T B 193 1 3 4 3 7 4 2 4 2 2
2120 {ENNEBT =T B 219 4 3 1 8 4 8 8 7 5 7
9999 E B XET 3608 47 62 54 71 68 71 73 74 62 81
2510 #AUEET 1833 29 46 43 36 48 41 46 62 51 60
2520 sk EEHT 1102 42 34 38 32 38 38 42 27 36 38
2530 = /NRHET 321 3 10 6 4 8 6 3 7 6 5
2540 Fi5HET 414 5 5 2 9 5 8 5 3 4 7
2550 ;HET 205 2 2 4 1 6 6 6 5 2 3
2560 = ST 857 20 13 14 14 20 7 20 22 14 17
2570 K &MY 90 1 1 1 1 1 2 3 0 0 3
9999 MMEXET 4822 102 111 108 97 126 108 125 126 113 133
3010 K#THT 864 16 19 9 13 12 16 13 18 22 24
3020 L iIHT 842 14 15 29 21 14 17 12 17 12 19
3030 _EEFHT 704 17 19 22 12 17 1 14 14 17 16
3040 B LHET 143 1 0 1 2 1 1 1 1 1 0
3050 B AR ET 1762 64 53 51 55 50 32 44 45 47 39
3060 B THET 444 3 5 7 2 5 11 4 3 5 5
3070 & ERERT 416 4 2 5 6 6 7 6 9 7 3
3080 H AT 387 11 11 18 9 20 16 21 19 17 12
3090 HHEHT 382 7 12 12 13 13 7 13 13 11 17
3100 H R FEHET 516 10 15 13 8 13 5 11 10 5 5
3110 EHAILHET 405 8 9 14 7 4 8 4 3 9 7
9999 /\FiE& X &t 6865 155 160 181 148 155 131 143 152 153 147
3510 2R LHT 174 0 2 3 2 1 4 1 4 0 2
3520 & R T 348 5 9 2 5 9 5 7 2 4 5
3530 &R THT 865 17 23 29 15 20 31 16 15 21 8
3540 &= B KHT 331 3 3 1 4 3 5 9 7 10 4
3550 AEFHT 724 8 9 9 11 14 14 13 13 12 8
3560 = T B HET 265 1 1 2 1 3 5 6 4 6 4
3570 = T FaMT 796 12 20 14 16 15 11 6 10 6 13
3580 FLIFTHT 526 14 7 9 14 5 5 12 8 6 7
3590 JEMT 16 0 0 1 0 0 0 0 0 0 0
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4610 EREE+—ZBHT
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9999 FRERXET
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5020 BB F0BAELET
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9999 MAFIRXET
5510 b R HET
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5550 EEHT

9999 =R X 5t
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B &= A BAET
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BH&EALLTHT
B AN 2 RET
BRAGILET
H = ALERIHT
B &= AEHET

H &= ARHET
H & A T
H&EA LFaHT

4047
304
66
192
176
382
319
149
170
274
98
111
2241
685
146
143
129
97
99
129
68
122
164
179
267
2188
161
157
176
494
207
557
441
225
70
1500
85
85
80
183
134
99
666
21
168
99
161
93
136
158
92
99
96
53

60

—_

O - O~ 0000 = —-0O0P~PN—-~ 00— 0OVWO = NONSNDNDNMNWWDNW—--AN—-"—""TWOOoOW OO0 N—-=-aNON-=-DNN-—=

N—L
O = = = N - - 00O N - I =W 0= N0 JOOON—- WO WO—-0O0OWMNMNMNN-—-PPON—-_"BIBA~ANMNOJWLWLAN—=-I—=

XH24. 7 9F RERBIREZD—ERIEIZKYSNEANEZEHT-AO
(H30.8.31IRTEJITEET & (KF) Bl &R A O HEFE (&)

TBET (KF)3—K TERET(KF)E  HEH o)

- - 0O 0 -0 = - 00O NWON—-O—=-NMNOWOWOMNON—-WOPROPLALAPNMNOON—TOGCTWNOWWPNDTTONPAANNOWON

[=2]

wW

w

- N
O R - WNWN-—-O - DD WLOUONP,AP—=-W—LOUMNSSOSOSW—=- =0 — O©TwWwWwWwWMNDNOWOW

I
o

— O 0O 0O = OMNNMN—-=OWNMNDMNO=—=N

- A

N
OO -~ O —=-N—-0 === 00000 —=N—-00—~=-N~JWONWOUGO—-=-NN—=-—--=" = = DNOUOMNONDIMOUIO O 00O OO OO N

wW
O - OO0 === DNONOPARMNMNPPWLOWN—=WOTITOLOOOOGPAL, —=OCGINNMNNMNMNNMNNMNMNWWNWP~POOAL—=0OTCTWDouh~—=DhmbOowu

W —= 0 WWwWwOoh—=0 = ©OD

- N
(2]

N = = B_BN-=-DNOOGlI—- U

w
g

— O -~ 0O 0O = DNMNOONOWO—-0O0D0LWONOP~AWODNDNDOO

-

— N OOW—-=DNOU—-=-Hh = = WLWCOUIO—-=-NW-"—NONNOPOMNMNMNPPPWOPLRON—-="- =" DNN--DN—-"-"ULCOSDOCTITOCION - ODNOW-V

[=2]

—_
w
O W - O JOMNNPOWWWPAPAWOON OO PDMDODOO—-="NNNONJON —= O 01

w

—_

w
o

— WO OO - = N—- WO - NMNOPMODMNMNOW

— O1

O - OO0 O -0 WOWOON—-DIB—-NOO - P OPAAMNON—-OWOUIPL, = =DBDON—-="WON—-"LODNMNMNMNOAONMAINOODPPWDNI—~=O©



XH24. 7 9F RERBIREZD—ERIEIZKYSNEANEZEHT-AO
(H30.8.31IRTEJITEET & (KF) Bl &R A O HEFE (&)

TBET (KF)3—K TERET(KF)E  HEH o) 1 2 3 4 5
6620 HZE A FGHET 51 0 0 2 0 2 0
6630 HEATFGHET 100 1 0 1 1 1 1
6640 B & A EiHlT 38 0 0 0 0 0 0
6650 B &= ASRHT 2 0 0 0 0 0 0
6660 H Z A RLHET 51 0 0 0 0 0 0
9999 HEAKKET 1378 5 10 9 9 11 9
7010 Z R MO ET 142 1 0 1 0 1 2
7020 — R AHT 278 0 4 4 2 3 2
7030 — R FRHNET 101 1 0 0 1 1 0
7040 — R T KEFHET 196 0 1 1 0 0 0
7050 — R ¥7 H I HET 91 0 1 0 1 0 1
9999 — R&XEtT 808 2 6 6 4 5 5
8011 JRAHTFEERL 64 0 0 0 0 0 0
8012 YR AHTFEERA 113 2 1 0 3 0 1
8013 IRAHTFERIL 76 0 0 1 0 1 1
8021 HRAHTZEKLY 83 0 0 1 0 0 1
8022 IR AHTIEKA 7 0 0 0 0 0 0
8023 R AHETEKIE 8 0 0 0 0 0 0
8031 IRAHTH ALY 154 1 2 1 1 1 1
8032 JABTHAA 9 0 0 0 0 0 1
8033 IRAHTH AL 19 0 0 0 0 0 0
8041 IR AHTELIFZL 68 0 0 0 0 0 1
8042 IR AHTELIRA 35 0 0 0 0 0 0
8043 R AHET LRI 20 1 0 0 0 0 0
8044 IR AHTELIRIZ 26 0 0 0 0 0 0
8045 IR ABTELIF T 48 0 0 0 0 0 0
8050 IRAHTIRA 180 1 1 0 1 1 0
8060 YR ABTFTHA 135 1 2 1 1 1 1
8070 JRAHBTER 155 1 1 0 0 0 1
8080 Ir AHT &k 51 0 0 0 1 0 1
8090 IR AHTHEE 49 0 0 0 0 1 0
8100 JRAHETH /1% 25 0 0 0 0 0 0
8110 IRAHTJI| 5 50 1 0 0 0 0 0
8120 IR AHTEE 7 74 0 0 0 0 0 0
8130 3R AHTH E 72 0 1 1 1 1 0
8140 IJABIEHEXRT 116 0 0 0 0 0 0
8150 IRAHTHFK L 85 0 0 1 0 0 1
9999 AKX 5T 1722 8 8 6 8 6 10
9010 FTHTAKEH 522 10 9 9 13 6 5
9020 FTHTEE R 296 6 6 7 3 7 5
9030 FTHTH &£ H 868 21 25 31 32 27 28
9040 FTHTHEIH 1028 17 27 23 16 30 22
9999 FTH#XEt 2714 54 67 70 64 70 60
9110 SERT T HIE 446 7 9 7 5 11 9
9120 $EETH L 237 3 2 1 2 1 6
9130 $EHTH & 105 2 1 2 0 4 4
9140 $RAT T4t 332 5 3 6 6 4 9
9150 $EET L 55 438 11 3 7 15 9 8
9160 SEETERHT 653 11 8 16 12 20 25
9170 $RATNEA 804 18 12 18 22 15 21
9180 SEMETEE 528 8 9 5 8 10 11
9190 $ERTZ O 182 3 2 4 4 3 6
9200 5 HT FF 5 161 0 1 4 4 2 1
9210 $RAT = H 299 1 3 5 6 1 8
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XH24. 7 9F RERBIREZD—ERIEIZKYSNEANEZEHT-AO
(H30.8.31IRTEJITEET & (KF) Bl &R A O HEFE (&)

TBET (KF)3—K TERET(KF)E  HEH o) 1 2 3 4 5 6 7 8 9
9220 SEMETHH 483 7 11 10 10 11 11 12 16 4 18
9230 ST B M 538 8 10 9 4 11 9 13 12 11 10
9240 SEETIE K 229 4 4 6 4 3 7 2 5 5 8
9250 FEETALHith 461 7 7 11 7 7 10 14 11 9 9
9999 R X &t 5896 95 85 111 109 112 145 127 157 102 125
9310 H[ZHET:R 184 1 3 1 1 4 0 1 2 1 3
9320 E[GHETIL 181 3 1 1 2 4 2 2 1 4 5
9330 E[ZMET/NE 123 0 0 1 2 0 1 2 1 1 0
9340 H[5HETREY 327 3 7 5 4 4 5 5 6 8 3
9999 RFHXET 815 7 11 8 9 12 8 10 10 14 11
9410 RETT & 312 3 4 3 4 6 3 8 6 7 5
9420 RHETHHE 220 1 0 1 0 1 1 1 0 1 0
9430 RETERK 141 1 1 1 0 0 0 0 0 0 0
9440 RETAEF 15 0 0 0 0 0 0 0 0 0 0
9450 RETHEIR 24 1 1 0 0 1 0 0 0 0 0
9460 RET{—_HE 29 0 0 0 0 0 0 0 1 0 1
9470 RETZER 8 0 0 0 0 0 0 0 0 0 0
9480 RHETHER 52 0 0 1 0 0 2 0 1 0 3
9999 RIXXET 801 6 6 6 4 8 6 9 8 8 9

99999 & &t 56038 879 974 1015 998 1038 1040 1058 1115 1013 1078



XH24. 7 9F RERBIREZD—ERIEIZKYSNEANEZEHT-AO
(H30.8.31IRTEJITEET & (KF) Bl &R A O HEFE (&)

THET (KF)a—F 1THHET (KF) 4 10 11 12 13 14 15 16 17 18 19
10 HAT 2 1 1 4 2 3 3 6 3 4
20 [EETHET 4 3 3 7 0 3 2 4 0 1
30 @7 2 2 4 5 2 5 4 3 4 1
40 SRET 2 2 2 1 1 1 1 1 3 2
50 KET—T B 3 2 4 3 3 2 2 1 2 2
60 KET=TH 4 2 3 0 3 2 0 4 4 0
70 AET=TH 5 5 3 6 8 5 8 4 12 4
80 ¥ATIHET 1 0 1 0 1 2 0 0 0 0
90 FEHATIRAT 6 6 1 0 0 2 3 4 2 4
100 dt D HLET 2 1 1 2 3 3 0 1 3 3
110 T HT 22 29 22 23 31 31 36 35 33 27
120 #;TAHT 6 7 4 6 4 8 4 3 5 6
130 #&FHT 5 8 7 6 4 11 5 5 3 9
140 EAERT 0 0 0 0 1 1 4 16 19 0
150 & FFrHET 6 5 9 7 6 5 7 7 11 7
9999 K IFHXET 70 73 65 70 69 84 79 94 104 70
510 RETIHT B 7 7 8 8 5 7 11 2 5 6
520 HEEEHT 7 6 3 4 5 10 5 2 5 4
530 /\T&HET 4 5 7 3 2 3 2 5 3 3
540 15 = HT 13 3 8 8 8 18 17 15 9 5
550 FithET 8 11 10 8 15 9 5 7 7 7
560 = ZHT 1 0 2 1 0 0 0 1 2 3
570 EEHT 1 2 1 2 2 2 1 3 2 0
580 ¥TEAHET 2 1 4 1 1 0 2 3 2 2
590 ¥ ;EHT 0 0 0 0 0 0 0 0 2 0
600 ZEi7HT 18 9 13 14 8 15 16 15 14 9
610 FHT 1 3 2 2 2 2 2 1 3 1
620 $TERT—T H 0 0 0 0 0 0 0 0 0 0
9999 J\ K& XEt 62 47 58 51 48 66 61 54 54 40
1010 B A HT 3 2 6 4 3 2 4 3 3 2
1020 £ FHT 10 7 5 8 2 7 4 2 5 1
1030 & A HT 3 9 4 15 4 8 8 2 6 4
1040 75/ HT 12 10 7 11 7 9 6 6 9 7
1050 & FHHET 14 19 10 14 17 10 15 12 11 8
1060 F _EHT 14 12 13 12 8 13 10 13 6 10
1070 A7 R HET 11 16 8 11 13 11 12 9 19 9
1080 & HHET 4 10 7 5 8 7 8 11 11 7
1090 BHiEHT 16 6 7 12 10 14 16 14 9 15
1100 £ BHEHT 13 11 13 8 9 12 12 8 7 10
1110 f21EMT 2 4 4 4 2 6 1 4 1 5
1120 $21E JTHT 0 1 0 0 0 2 0 0 1 0
1130 +4HT 0 2 0 1 0 0 1 0 0 0
1140 FkJRHET 0 0 0 0 1 0 0 1 0 0
1150 F/RET—T B 1 0 2 3 1 5 5 2 3 3
1160 F/RETZT B 2 0 5 4 4 2 4 6 4 2
1170 ;& 7KHET 2 3 5 2 1 2 1 4 2 5
1180 EE&FLHET 1 4 4 1 4 2 5 2 4 4
1190 1 F AHT 2 2 2 4 3 2 4 3 2 2
1200 XFHEI—TH 1 2 0 4 0 3 4 3 1 2
1210 XFHEIZTH 4 3 5 1 3 2 5 1 0 3
1220 FrHT 1 5 5 2 0 5 2 0 1 3
1230 #xHET 1 0 2 0 2 2 3 4 2 3
1240 B EHT 1 1 2 3 2 3 3 0 3 1
1250 fEEHET 1 1 3 1 0 1 1 2 1 2



XH24. 7 9F RERBIREZD—ERIEIZKYSNEANEZEHT-AO
(H30.8.31IRTEJITEET & (KF) Bl &R A O HEFE (&)

THET (KF)a—F 1THHET (KF) 4 10 11 12 13 14 15 16 17 18
1260 B & 0 0 0 0 0 0 0 0 0
1270 = EHT 3 1 2 1 0 1 1 1 3
1280 R4 HT 2 3 2 2 4 3 1 2 3
1290 £RHT 3 0 2 0 2 2 4 1 1
1300 & ZEHRT 0 3 1 2 2 0 3 1 2
1310 RJLHT 1 0 2 0 0 1 1 1 2
9999 XH X ET 128 137 128 135 112 137 144 118 122
1510 B4 BT 19 24 16 17 14 19 13 18 11
1520 HEHITET 16 15 11 12 13 10 12 20 17
1530 HEHNTHT 7 3 2 4 8 3 4 6 4
1540 K{23FHT 9 5 5 7 9 7 11 13 11
9999 HEMMRE X ET 51 47 34 40 44 39 40 57 43
2010 = S5 T 5 4 3 6 2 2 3 1 3
2020 % &7l 4 5 7 6 9 4 2 5 6
2030 ;AT 0 0 0 2 0 0 0 0 0
2040 ;ET—T B 5 1 5 4 6 2 3 9 3
2050 ;ET=T H 4 1 4 1 4 6 2 7 3
2060 HgZAMET 1 3 3 1 1 2 0 1 0
2070 +RET—TH 6 2 5 3 5 3 7 5 3
2080 +ETZTH 0 3 3 5 3 4 4 6 3
2090 THiAT 26 49 29 33 35 38 32 43 27
2100 dr 4L HT 8 4 5 2 5 5 7 6 3
2110 }EWETET—T B 2 5 5 5 3 8 6 7 1
2120 {ENNEBT =T B 5 4 8 3 2 3 5 4 7
9999 E B XET 66 81 77 71 75 77 71 94 59
2510 #AUEET 73 61 53 70 60 59 46 52 32
2520 sk EEHT 35 35 32 30 29 42 38 40 38
2530 = /NRHET 9 6 7 10 9 7 4 7 12
2540 Fi5HET 4 3 6 6 10 7 5 8 3
2550 ;HET 3 1 4 3 2 5 7 3 6
2560 = ST 24 12 16 14 15 15 22 19 14
2570 K EHT 1 5 2 0 1 0 2 1 3
9999 MMEXET 149 123 120 133 126 135 124 130 108
3010 K#THT 13 18 24 17 21 22 19 22 16
3020 L iIHT 18 17 20 16 25 17 23 22 17
3030 - EFHT 18 21 18 16 16 20 22 26 21
3040 B LHET 3 2 1 1 2 2 3 2 3
3050 A HRET 46 38 34 47 41 49 34 46 39
3060 B THET 8 2 10 6 7 6 14 11 12
3070 HEAEAT 8 6 8 9 6 7 7 4 7
3080 HhHT 6 8 12 8 12 6 7 11 12
3090 HHEHT 10 8 11 10 7 10 8 1 10
3100 H R FEHET 12 6 7 7 7 7 7 18 15
3110 EHAILHET 7 6 8 7 5 8 5 12 4
9999 /\FiE& X &t 149 132 153 144 149 154 149 185 156
3510 2R LHT 0 1 0 3 4 1 2 6 1
3520 R chf 4 6 2 8 7 4 8 4 7
3530 &R THT 23 23 13 15 18 21 16 24 14
3540 &= B KHT 6 10 1 7 10 6 8 15 12
3550 A EFHT 15 10 13 14 8 18 15 14 12
3560 = T B HET 3 8 4 4 4 6 4 3 6
3570 = T FaMT 10 12 6 6 17 7 15 15 12
3580 FLIFTHT 9 6 9 4 7 11 10 6 8
3590 JEMT 0 0 0 0 0 0 0 0 0
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4100 Fg<FEFOET
4110 b FFn@T
9999 &I XET
4510 AREE—ZHT
4520 EREE — ZEHT
4530 EREE=FH/AT
4540 EREEIUZEHET
4550 EREE L FHT
4560 AR EENEEHET
4570 AR ZHHET
4580 EREE)\ZHET
4590 EREE N FEHT
4600 AREE+ZEHT

4610 EREE+—ZBHT
4620 EREE+ —ZEHT

9999 FRERXET
5010 FAF0HE HEET
5020 BB F0BAELET
5030 FRFNRI{ZHT
9999 MAFIRXET
5510 b R HET
5520 = HhHET
5530 7= M7
5540 T EEHT
5550 EEHT

9999 =R X 5t
6010 [E]MET/ME&
6020 [E /T4
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6050 JI|EHATE
6060 JI|EHATFE
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6510
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B &= A% EHHET
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1520 HEHITET 20 19 25 23 24 15 23 17 17 15
1530 HEHNTHT 6 9 6 10 6 13 9 5 1 5
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2010 £ ERAT 13 6 3 9 4 5 3 7 8 3
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XH24. 7 9F RERBIREZD—ERIEIZKYSNEANEZEHT-AO
(H30.8.31IRTEJITEET & (KF) Bl &R A O HEFE (&)

THET (KF)a—F 1THHET (KF) 4 50 51 52 53 54 55 56 57 58 59
1260 fEH & 0 0 1 0 0 4 0 0 1 5
1270 EEHT 5 2 1 3 5 3 4 4 4 3
1280 R4 HT 6 2 2 1 6 4 6 1 2 2
1290 £RHT 4 4 3 5 3 3 5 2 2 5
1300 % ZEHT 2 1 5 7 3 2 2 4 4 5
1310 RJLHT 3 6 1 1 2 2 4 5 4 3
9999 XH X ET 182 198 149 211 192 190 228 195 213 206
1510 B4 BT 16 17 15 28 27 14 12 20 16 21
1520 HEHITET 26 16 17 20 11 12 19 25 23 21
1530 HEHNTHT 7 12 4 11 11 8 5 9 6 16
1540 K{ZFHT 14 14 9 11 19 14 7 16 14 13
9999 HEMMRE X ET 63 59 45 70 68 48 43 70 59 71
2010 £ ERAT 6 6 6 5 7 1 4 6 6 3
2020 % &7l 10 6 8 8 7 8 12 7 4 7
2030 ;AT 0 0 0 0 0 1 0 0 0 0
2040 :ET—TH 4 4 4 12 4 5 4 4 5 6
2050 ;ET=T H 7 10 3 10 1 4 2 3 5 1
2060 H5ZaMT 0 0 0 2 0 1 1 1 2 2
2070 +RET—TH 8 3 7 5 6 6 4 8 9 11
2080 +ETZTH 7 7 4 3 5 5 4 8 3 2
2090 THiAT 31 37 33 49 37 28 41 54 46 42
2100 dr 4L HT 6 2 5 4 7 5 6 3 5 8
2110 }EWETET—T B 10 7 8 10 10 7 7 10 4 9
2120 HEMIETETZT B 4 3 7 5 10 9 8 3 3 10
9999 E B XET 93 85 85 113 94 80 93 107 92 101
2510 #AUEET 49 61 39 58 40 39 61 52 52 65
2520 sk EEHT 47 41 40 34 36 32 31 36 34 40
2530 & /NRHET 12 12 10 6 11 6 13 10 17 10
2540 Fi5HET 5 9 12 12 11 13 14 17 12 12
2550 ;HET 6 9 8 6 5 8 2 4 9 8
2560 = ST 25 17 28 29 20 17 16 23 18 36
2570 K &MY 1 2 0 1 1 1 0 2 2 3
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3020 L iIHT 35 34 23 28 20 26 25 17 21 25
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3040 B LHET 3 9 0 4 5 2 2 1 5 5
3050 B AR ET 56 53 53 67 40 57 42 65 69 54
3060 B THET 11 8 13 15 9 14 12 15 13 18
3070 HEAEAT 13 11 12 14 11 11 7 9 18 12
3080 H AT 11 14 4 7 12 7 9 9 12 8
3090 HHEHT 8 18 2 1 7 5 15 1 5 9
3100 H R FEHET 14 19 15 10 13 13 10 10 9 14
3110 HedLHET 13 8 10 15 10 17 12 12 17 21
9999 /\FiE& X &t 208 235 175 222 175 198 177 195 210 209
3510 2R LHT 5 6 3 4 14 12 4 8 5 10
3520 R chf 14 5 8 9 7 8 8 8 7 11
3530 &R THT 20 28 15 29 26 26 31 19 29 28
3540 &= B KHT 9 12 5 15 11 8 13 18 11 8
3550 AEFHT 22 21 31 16 24 16 22 27 21 29
3560 = T B HET 5 7 8 4 1 7 8 16 8 4
3570 = T FaMT 24 29 14 19 17 14 18 17 16 29
3580 FLIFTHT 10 13 17 12 16 11 11 11 9 16

3590 JEEHT 0 0 0 0 0 1 0 1 0 0
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9440 RETAEF 1 0 0 1 0 2 1 0 0 0
9450 RETHEIR 0 0 0 2 0 1 1 0 0 2
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XH24. 7 9F RERBIREZD—ERIEIZKYSNEANEZEHT-AO
(H30.8.31IRTEJITEET & (KF) Bl &R A O HEFE (&)

THET (KF)a—F 1THHET (KF) 4 60 61 62 63 64 65 66 67 68 69
10 HHHT 4 3 3 1 5 3 5 9 6 7
20 [EETHET 8 4 5 5 5 5 9 5 7 5
30 @7 10 3 6 1 5 10 3 5 9 11
40 SRET 2 3 4 5 8 1 4 4 4 8
50 KET—T B 7 9 9 9 7 7 15 12 13 15
60 KET=TH 0 3 5 4 3 8 5 9 3 13
70 AET=TH 5 6 3 6 9 9 4 11 9 13
80 ¥ATIHET 0 1 5 1 3 0 1 0 3 1
90 FEHNIT I ET 4 7 6 6 8 4 8 4 9 12
100 dt D HLET 3 4 4 6 8 2 5 4 2 4
110 T HT 25 45 29 30 33 37 29 22 41 33
120 ¥A;TAHT 6 4 7 4 2 8 5 6 6 4
130 #&FHT 6 13 10 7 5 10 13 13 15 12
140 EAERT 0 0 0 0 0 0 0 0 0 0
150 & FFrHET 6 4 6 6 3 12 12 9 10 5
9999 K IFHXET 86 109 102 91 104 116 118 113 137 143
510 RETIHT B 9 8 17 13 16 10 20 18 13 13
520 HEEEHT 4 2 6 4 3 1 2 7 4 5
530 /\T&HET 7 5 9 4 8 5 8 11 4 10
540 15 = HT 13 4 9 7 9 15 6 8 11 16
550 FithET 12 10 13 11 11 7 14 5 9 12
560 = M7 0 3 1 4 4 2 2 1 1 1
570 EEHT 1 1 5 1 3 3 2 2 2 2
580 HrhRAET 4 6 3 4 3 2 7 10 3 3
590 ¥ ;EHT 2 1 2 0 1 3 1 5 2 4
600 ZEi7HT 21 21 29 31 24 30 26 24 22 23
610 FHT 3 6 10 6 4 7 4 10 7 5
620 $TERT—T H 0 0 0 0 0 0 0 0 0 0
9999 J\ K& XEt 76 67 104 85 86 85 92 101 78 94
1010 3 A HT 7 3 3 1 6 1 1 14 8 9
1020 Lt FHT 11 6 12 10 13 11 9 12 10 14
1030 A1 FHT 11 8 6 10 6 10 6 10 10 10
1040 75/ HT 16 13 18 18 12 10 16 17 10 17
1050 & FHHET 12 17 22 21 9 17 16 17 17 21
1060 F _EHT 12 20 12 13 11 11 6 16 16 14
1070 A7 R HET 20 15 10 15 15 14 12 16 12 16
1080 &= FHHET 13 6 13 8 11 12 8 10 8 9
1090 BHiEHT 16 10 15 20 22 26 26 29 26 23
1100 £ BHEHT 14 12 13 17 17 24 9 20 16 20
1110 f21EMT 7 4 4 6 4 4 1 2 5 3
1120 $21E JTHT 3 4 3 1 3 2 1 2 5 1
1130 +4&HT 2 1 0 2 1 1 0 1 1 3
1140 FkJRHET 1 0 0 0 1 0 2 0 0 0
1150 F/RET—T B 4 5 6 6 5 5 5 8 9 13
1160 F/RETZT B 5 8 8 5 7 6 6 8 10 14
1170 ;& 7KHET 3 6 1 2 5 3 2 5 7 9
1180 EE&FLHET 8 4 4 6 4 8 6 4 16 8
1190 1 F AHT 2 6 7 4 4 6 10 4 8 12
1200 XFHEI—TH 4 2 3 4 3 5 5 5 4 3
1210 XFHEIZTH 6 6 6 4 2 6 4 9 7 8
1220 FrHT 1 2 8 4 1 7 3 4 0 5
1230 #XHET 8 4 8 2 4 7 3 2 11 6
1240 B EHT 4 1 6 4 0 1 4 1 5 5
1250 fEEIRT 4 2 2 5 3 4 4 2 4 3



XH24. 7 9F RERBIREZD—ERIEIZKYSNEANEZEHT-AO
(H30.8.31IRTEJITEET & (KF) Bl &R A O HEFE (&)

THET (KF)a—F 1THHET (KF) 4 60 61 62 63 64 65 66 67 68 69
1260 B & 0 3 3 2 3 1 1 0 2 2
1270 EEHT 2 4 4 2 4 4 3 2 5 6
1280 FRAHET 2 3 3 8 3 6 8 5 4 4
1290 £RHT 7 8 5 5 4 4 7 2 1 13
1300 & ZEHRT 0 1 3 4 1 2 2 5 4 5
1310 RJLHT 4 0 3 5 2 0 2 3 0 3
9999 XH X ET 209 184 211 224 186 218 188 235 241 279
1510 B4 BT 29 17 21 14 23 24 13 35 26 19
1520 }EHI T HET 12 23 21 22 24 25 20 26 36 27
1530 HEHITHT 9 14 9 10 13 10 10 12 8 11
1540 K{ZFHT 25 13 16 19 24 21 23 17 20 23
9999 HEMMRE X ET 75 67 67 65 84 80 66 90 90 80
2010 = S5 T 1 4 9 2 4 3 4 4 5 11
2020 % &7l 6 7 4 7 6 8 9 6 6 2
2030 ;AT 3 5 1 1 0 0 0 1 2 5
2040 JMET—TH 6 7 2 5 3 2 7 8 6 8
2050 ;ET=T H 6 3 7 5 7 5 7 7 11 5
2060 HgZAMET 0 3 2 3 2 2 1 1 2 3
2070 +RET—TH 4 5 10 6 7 6 8 10 9 7
2080 +ETZTH 3 8 5 9 6 6 7 5 6 9
2090 THiAT 39 55 63 61 55 68 65 55 75 65
2100 fhiLHET 5 3 7 13 7 12 6 4 8 10
2110 }EWETET—T B 6 6 3 8 7 12 10 13 6 9
2120 {ENNEBT =T B 13 9 7 14 11 7 7 15 7 8
9999 E B XET 92 115 120 134 115 131 131 129 143 142
2510 #AUEET 53 47 42 57 52 50 57 52 63 68
2520 sk EEHT 45 44 42 29 48 26 37 44 41 44
2530 & /NRHET 8 7 6 15 13 18 15 8 12 12
2540 Fi5HET 11 16 12 11 11 23 25 12 17 21
2550 ;HET 9 5 10 10 5 7 9 11 4 8
2560 = ST 22 26 32 34 30 22 33 30 37 48
2570 K EH/T 2 3 1 2 2 4 3 5 4 7
9999 MMEXET 150 148 145 158 161 150 179 162 178 208
3010 K#THT 20 21 15 31 24 28 43 31 39 35
3020 L iIHT 22 19 27 19 28 29 35 27 31 36
3030 - EFHT 20 26 17 27 21 20 26 17 16 25
3040 B LHET 4 3 5 5 7 5 8 1 3 5
3050 B AR ET 48 62 51 63 54 50 49 52 74 76
3060 B THET 14 13 12 14 10 18 10 12 28 17
3070 HEAEAT 12 17 17 16 11 18 15 22 19 17
3080 HHHHT 5 8 7 8 8 7 6 9 18 16
3090 HHEHT 3 12 4 9 3 10 8 17 10 12
3100 H R FEHET 9 13 17 17 16 19 11 13 10 13
3110 EHeALHET 12 9 17 12 10 15 16 21 13 19
9999 /\FiE& X &t 169 203 189 221 192 219 227 222 261 271
3510 2R LHT 2 4 3 6 4 1 4 12 7 11
3520 & R T 11 9 10 13 12 12 4 13 16 19
3530 &R THT 24 37 31 30 26 29 48 36 27 36
3540 &= B KHT 7 15 8 9 11 18 11 18 17 17
3550 AEFHT 26 17 31 31 25 31 26 25 30 34
3560 = T ERAT 10 11 13 16 13 16 8 12 10 13
3570 = T FaMT 20 27 20 21 35 23 26 34 35 39
3580 FLIFTHT 17 18 17 15 22 12 18 21 13 31

3590 ;EHT 0 0 0 0 0 0 1 1 0 1



9999 S HKXET
4010 41| BT
4020 {ESHT
4030 15HET

4040 = HEAHT
4050 7K EHT
4060 B2 HHET
4070 Jt/RHET
4080 =;T;HAMT
4090 FREHET
4100 FgFF0AT
4110 b FFn@T
9999 &I XET
4510 AREE—ZHT
4520 EREE — ZEHT
4530 EREE=FH/AT
4540 EREEIUZEHET
4550 EREE L FHT
4560 AR EENEEHET
4570 AR ZHHET
4580 EREE)\ZHET
4590 EREE N FEHT
4600 AREE+ZEHT

4610 EREE+—ZBHT
4620 EREE+ —ZEHT

9999 FRERXET
5010 FAF0HE HEET
5020 BB F0BAELET
5030 FRFNRI{ZHT
9999 MAFIRXET
5510 b R HET
5520 = HhHET
5530 7= M7
5540 T EEHT
5550 EEHT

9999 =R X 5t
6010 [E]MET/ME&
6020 [E /T4
6030 EETA I
6040 EiZEFHET
6050 JI|EHATE
6060 JI|EHATFE
9999 REERXET

6510
6520
6530
6540
6550
6560
6570
6580
6590
6600
6610

B &= A BAET
B &R A KEFHT
B &= A% EHHET
BH&EALLTHT
B AN 2 RET
BRAGILET
H = ALERIHT
B &= AEHET

H &= ARHET
H & A T
H&EA LFaHT
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XH24. 7 9F RERBIREZD—ERIEIZKYSNEANEZEHT-AO
(H30.8.31IRTEJITEET & (KF) Bl &R A O HEFE (&)

THET (KF)a—F 1THHET (KF) 4 60 61 62 6 6 6 66 6 68 69
6620 HZE A FGHET 0 2 2 3 3
6630 HZEA T AT 3 2 4 2
6640 B & A EiHlT 1 2 1 1
6650 HZASHET 0 0 0 0
6660 H Z A RLHET 0 1 2 2
9999 HEAKKET 3 3 44 6 5 6 70 5 58 74
7010 Z R MO ET 6 11 13
7020 — R AHT 1 14 1 11 12
7030 — R FRHAMT 6 1 4 3
7040 — R T KEFHET 1 1 1 11 10 12
7050 — R ¥7 H I HET 8 7 6
9999 — R&XEt 2 2 2 3 4 3 45 4 43 46
8011 JRAHTFEERL 5

8012 YR AHTFEERA
8013 IRAHTFERIL
8021 HRAHTZEKLY
8022 R AHETIEKA
8023 R AHETEKIE
8031 IRAHTH ALY
8032 JABTHAA
8033 IRAHTH AL
8041 YR AHETHELIFL
8042 R ABTELIFEA
8043 R AHET LRI
8044 IR AHTELIRIZ
8045 IR ABTELIF T
8050 IR AHT IR A
8060 YR ABTFTHA
8070 JRAHBTER
8080 Ir AHT &k
8090 IR AHTHEE
8100 RAHETHI /IX
8110 3RZAHTJI| 5k
8120 Y AHTEE 7
8130 IR AHTH L
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8140 IRABTEERT 1 9
8150 IRAHTHFK L 8 3 1 6 7 9 4 11
9999 AKX ET 71 65 56 61 77 62 81 88 87 101
9010 FTHTAKEH 26 17 19 17 18 16 20 21 28 27
9020 FTHTHE A 6 12 7 13 10 20 15 14 20 16
9030 FTHTH &£ H 30 33 34 43 32 35 31 30 43 34
9040 FTHTHEIH 41 40 34 36 41 42 42 35 37 45
9999 FTHXET 103 102 94 109 101 113 108 100 128 122
9110 SERT T HIE 8 17 10 16 14 10 24 21 15 22
9120 $EETH L 6 1 9 14 10 7 10 8 14 8
9130 $EHTH & 7 3 3 9 6 2 3 7 6 3
9140 SERT T4 21 14 15 18 9 11 23 18 17 18
9150 $EET L 55 8 9 18 15 11 20 17 18 19 22
9160 SEETERHT 17 16 22 21 19 20 30 28 17 35
9170 $RATNEA 22 26 30 21 24 20 26 25 31 26
9180 #RHTERE 24 14 27 26 11 24 26 17 17 23
9190 $ERTZ O 6 7 9 11 12 5 8 9 8 9
9200 FEHETEFIF 8 12 8 3 7 2 8 10 13 12

9210 FEHTE H 7 19 6 16 12 13 15 13 20 15



XH24. 7 9F RERBIREZD—ERIEIZKYSNEANEZEHT-AO
(H30.8.31IRTEJITEET & (KF) Bl &R A O HEFE (&)

THET (KF)a—F 1THHET (KF) 4 60 61 62 63 64 65 66 67 68 69
9220 SEMETHH 15 17 21 16 14 15 16 19 19 21
9230 ST B M 22 16 18 24 24 31 29 18 30 31
9240 SEETIE K 10 7 9 9 8 12 7 4 11 11
9250 3 ET At Frith 21 20 19 18 11 29 18 9 15 8
9999 R X &t 202 198 224 237 192 221 260 224 252 264
9310 H[ZHET:R 7 8 10 7 10 7 6 9 4 11
9320 H[ZATIL 11 7 14 6 7 9 8 6 16 13
9330 H[SRT/INE 6 10 8 8 6 4 12 10 5 6
9340 H[5HETREY 9 12 18 19 17 13 12 16 18 12
9999 RFHXET 33 37 50 40 40 33 38 41 43 42
9410 RETT & 15 17 10 10 13 10 20 8 17 21
9420 RHETHHE 12 8 5 7 14 17 14 5 11 13
9430 RETEXR 2 7 4 7 5 6 4 6 7 13
9440 RETAEF 0 2 1 1 0 0 0 0 0 1
9450 RETHEIR 0 1 2 0 0 1 4 0 1 1
9460 RET{—_HE 1 2 2 2 2 1 1 1 0 5
9470 RETZER 0 0 0 2 1 0 1 0 0 1
9480 RETHER 0 0 1 1 3 2 1 4 0 6
9999 RIXXET 30 37 25 30 38 37 45 24 36 61

99999 H&ET 1682 1761 1855 1955 1904 2027 2093 2085 2220 2444



XH24. 7 9F RERBIREZD—ERIEIZKYSNEANEZEHT-AO
(H30.8.31IRTEJITEET & (KF) Bl &R A O HEFE (&)

THET (KF)a—F 1THHET (KF) 4 70 71 72 73 74 75 76 77 78
10 HHHT 4 5 0 2 0 3 5 3 1
20 FEERHET 3 2 4 4 5 4 4 5 2
30 @7 12 4 4 7 7 5 7 8 9
40 SRET 3 6 2 6 3 4 5 6 2
50 KET—T B 13 17 10 10 9 7 6 3 5
60 KET=TH 5 4 3 6 6 5 2 2 3
70 RET=TH 8 4 4 5 5 7 13 11 4
80 ¥ATIHET 1 2 2 2 0 1 1 0 3
90 FEHNIT I ET 7 12 4 11 6 4 10 9 5
100 dt D HLET 6 3 3 5 3 5 2 3 2
110 T HT 34 36 25 18 18 16 23 18 22
120 ¥A;TAHT 7 5 5 4 4 2 9 4 3
130 #&FHT 11 14 3 17 15 7 12 7 8
140 EAERT 0 0 0 0 0 0 0 0 0
150 & FFrHET 10 7 4 7 6 4 11 11 6
9999 K IFHXET 124 121 73 104 87 74 110 90 75
510 RETIHT B 15 16 8 13 8 14 16 8 10
520 HEEEHT 4 4 5 2 5 4 5 0 0
530 /\T&HET 9 7 4 7 5 5 4 7 4
540 15 = HT 21 9 12 6 8 15 13 10 5
550 FithET 10 12 7 4 8 12 9 9 8
560 =ZLMT 2 0 0 2 5 2 2 7 2
570 EEHT 3 1 1 1 3 0 3 0 0
580 ¥TEAHET 1 1 3 8 4 1 2 3 3
590 ¥ ;EHT 1 7 1 2 1 2 3 1 0
600 ZEi7HT 14 13 9 10 14 12 18 11 7
610 FHT 7 5 3 6 5 4 4 4 6
620 $TERT—T H 0 0 0 0 0 0 0 0 0
9999 J\ K& XEt 87 75 53 61 66 71 79 60 45
1010 3 A HT 5 14 1 2 3 4 3 13 1
1020 £ FHT 16 9 5 7 9 7 5 9 3
1030 & A HT 4 13 4 3 11 4 7 13 6
1040 75/ HT 11 15 6 7 9 12 7 3 10
1050 & FHHET 21 16 9 10 13 9 11 18 10
1060 F _EHT 15 14 9 5 12 11 13 1 11
1070 A7 R HET 14 17 10 11 19 13 11 10 6
1080 & HHET 9 6 8 11 6 7 5 10 7
1090 BHiEHT 10 14 18 12 22 16 17 10 16
1100 £ BHEHT 21 17 6 16 13 18 7 19 12
1110 {2 1EHT 3 1 2 9 6 7 5 2 5
1120 $21E JTHT 3 3 3 0 5 1 3 2 2
1130 +4&HT 2 1 1 1 3 0 2 0 0
1140 FkJRHET 0 1 0 1 3 0 0 0 0
1150 F/RET—T B 4 7 5 2 4 8 6 6 3
1160 F/RETZT B 7 9 2 2 4 1 5 8 9
1170 ;& 7KHET 5 2 3 5 7 3 9 5 6
1180 EE&FLHET 4 6 9 12 7 5 9 11 10
1190 #&FAHT 6 7 2 5 7 4 4 2 4
1200 XFHEI—TH 5 3 2 0 5 2 4 6 2
1210 XFHEIZTH 10 5 0 1 5 4 3 3 1
1220 FrHT 6 8 3 2 5 2 3 3 2
1230 %KHET 5 3 6 4 4 3 5 3 0
1240 B EHT 3 4 2 5 5 5 3 1 2
1250 fEEHET 9 4 2 3 1 5 3 5 5
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XH24. 7 9F RERBIREZD—ERIEIZKYSNEANEZEHT-AO
(H30.8.31IRTEJITEET & (KF) Bl &R A O HEFE (&)

THET (KF)a—F 1THHET (KF) 4 70 71 72 73 74 75 76 77 78 79
1260 fEH & 1 0 1 3 3 0 1 3 0 0
1270 EEHT 5 2 2 5 1 0 3 2 0 0
1280 R4 HT 5 6 3 1 4 3 5 5 5 5
1290 £RHT 5 7 2 4 7 2 5 6 7 2
1300 & ZEHRT 6 3 4 3 5 3 5 4 4 3
1310 RJLHT 4 2 2 3 3 2 2 1 1 1
9999 XH X ET 224 219 132 155 211 171 171 184 150 145
1510 B4 BT 25 20 15 12 24 24 22 22 19 13
1520 HEHITET 31 24 19 22 24 24 20 18 17 18
1530 HEHITHT 12 18 6 9 16 8 10 14 7 10
1540 K{23FHT 15 24 5 15 12 10 17 17 5 13
9999 HEMMRE X ET 83 86 45 58 76 66 69 7 48 54
2010 £ ERAT 8 10 2 3 5 7 4 2 3 6
2020 % &7l 7 8 2 3 7 6 4 7 3 7
2030 ;AT 1 2 0 0 0 2 0 1 0 0
2040 JMET—TH 11 9 3 9 3 1 8 4 3 7
2050 ;ET=T H 6 10 5 7 8 6 5 6 3 5
2060 ¥5XmmT 3 2 2 1 0 4 0 3 1 0
2070 +RET—TH 8 7 7 2 7 6 10 8 4 4
2080 +ETZTH 11 6 6 6 9 3 4 4 6 3
2090 THiAT 74 62 34 37 69 53 37 38 51 40
2100 dr 4L HT 5 10 3 2 3 3 3 7 4 6
2110 }EWETET—T B 6 11 6 5 4 8 7 5 11 5
2120 HEMIETETZT B 6 16 5 6 7 6 12 1 5 4
9999 E B XET 146 153 75 81 122 105 94 86 94 87
2510 #AUEET 78 62 36 41 52 45 52 49 33 37
2520 sk EEHT 44 24 19 23 17 27 14 12 14 13
2530 = /NRHET 15 10 5 4 6 3 9 11 7 9
2540 Fi5HET 21 23 9 14 15 15 17 19 15 10
2550 ;HET 6 8 7 6 9 5 4 7 4 12
2560 = ST 32 36 25 19 24 19 27 26 25 19
2570 XK ST 6 5 5 0 3 1 3 3 4 2
9999 MMEXET 202 168 106 107 126 115 126 127 102 102
3010 K#THT 34 35 24 26 26 20 32 29 32 1
3020 L iIHT 29 41 16 14 23 14 19 20 16 16
3030 - EFHT 23 24 7 19 13 18 14 21 11 15
3040 B LHET 4 5 5 2 7 7 5 5 3 4
3050 B AR ET 61 60 24 41 37 41 46 36 40 31
3060 B THET 10 21 11 15 18 21 19 23 19 15
3070 HEAEAT 13 10 10 14 16 11 11 16 16 14
3080 HhHT 10 8 5 4 8 8 12 8 5 4
3090 H A E AT 8 8 6 7 9 11 10 7 7 5
3100 H R FEHET 9 7 11 10 5 6 7 9 6 3
3110 HedLHET 20 16 4 13 13 14 12 13 6 10
9999 /\FiE& X &t 221 235 123 165 175 171 187 187 161 128
3510 2R LHT 7 5 2 3 8 1 4 8 4 6
3520 & R T 25 10 12 10 8 13 13 6 7 5
3530 &R THT 31 21 17 24 25 21 16 19 11 11
3540 &= B KHT 15 13 15 5 7 13 12 17 9 9
3550 AEFHT 32 24 15 16 23 21 14 23 13 14
3560 = T B HET 12 12 7 6 4 7 8 11 6 3
3570 = T FaMT 35 29 21 23 25 21 26 19 17 13
3580 FLIFTHT 22 19 8 14 12 14 13 12 15 10

3590 JEEHT 1 3 0 0 0 0 0 1 0 0



9999 S HKXET
4010 41| BT
4020 {ESHT
4030 15HET

4040 = HEAHT
4050 7K EHT
4060 B2 HHET
4070 Jt/RHET
4080 =;T;HAMT
4090 FREHET
4100 FgFF0AT
4110 b FFn@T
9999 &I XET
4510 AREE—ZHT
4520 EREE — ZEHT
4530 EREE=FH/AT
4540 EREEIUZEHET
4550 EREE L FHT
4560 AR EENEEHET
4570 AR ZHHET
4580 EREE)\ZHET
4590 EREE N FEHT
4600 AREE+ZEHT

4610 EREE+—ZBHT
4620 EREE+ —ZEHT

9999 FRERXET
5010 FAF0HE HEET
5020 BB F0BAELET
5030 FRFNRI{ZHT
9999 MAFIRXET
5510 b R HET
5520 = HhHET
5530 7= M7
5540 T EEHT
5550 EEHT

9999 =R X 5t
6010 [E]MET/ME&
6020 [E /T4
6030 EETA I
6040 EiZEFHET
6050 JI|EHATE
6060 JI|EHATFE
9999 REERXET

6510
6520
6530
6540
6550
6560
6570
6580
6590
6600
6610

B &= A BAET
B &R A KEFHT
B &= A% EHHET
BH&EALLTHT
B AN 2 RET
BRAGILET
H = ALERIHT
B &= AEHET

H &= ARHET
H & A T
H&EA LFaHT
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XH24. 7 9F RERBIREZD—ERIEIZKYSNEANEZEHT-AO
(H30.8.31IRTEJITEET & (KF) Bl &R A O HEFE (&)

FTIRET (KF)a—F {TEHET (KF) 4 70 72 7

~
—_
~

6620 HZE A FGHET
6630 HER AT FHHT
6640 B & A EiHlT
6650 B &= ASRHT
6660 H Z A RLHET
9999 HEAKKET
7010 Z R MO ET
7020 — ELAHT
7030 — R FRHNET
7040 — R T KEFHET
7050 — R ¥7 H I HET
9999 — R&XEtT
8011 JRAHTFEERL
8012 YR AHTFEERA
8013 IRAHTFERIL
8021 HRAHTZEKLY
8022 R AHETIEKA
8023 R AHETEKIE
8031 IRAHTH ALY
8032 JABTHAA
8033 IRAHTH AL
8041 YR AHETHELIFL
8042 R ABTELIFEA
8043 R AHET LRI
8044 IR AHTELIRIZ
8045 IR ABTELIF T
8050 IR AHT IR A
8060 YR ABTFTHA
8070 JRAHBTER
8080 Ir AHT &k
8090 IR AHTHEE
8100 RAHETHI /IX
8110 3RZAHTJI| 5k
8120 Y AHTEE 7
8130 IR AHTH L

8140 IRABTEERT
8150 JABIBEFX L

9999 AKX 5T
9010 FTHTAKEH
9020 FTHTEFER
9030 FTHTH &£ H
9040 F+THTHEH
9999 FTH#XEt
9110 SERT T HIE
9120 $RETH L
9130 $EHTH &
9140 $RET T+t
9150 $EET L 55
9160 $RATEEHT
9170 $ERTINE
9180 #RHTERE

9190 $ERTZ O
9200 FEHETEFIF
9210 $RHETE H
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